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SHEE | ZBE | A8E | SHEE | 2BE | a%E | EBE | 2HRE S | ZBE | AKE | SEE | RBE | 6%E
HEVATLISHEIR 12 6 6 6 18 18 14 0 0 0 0 0 24 24 20
MEIFER 4 2 2 2 3 2 1 1 1 0 0 0 6 5 4
REFRIZER 4 8 8 8 0 0 0 0 0 0 0 0 8 8 8
&t 20 16 16 16 21 20 15 1 1 0 0 0 38 37 32
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BEAR SR | ZBRE | A%E | SHEE | Z8RE | 6%F | EBE | 2RE EHEE | 25BE | A8E
HEVATLIZHIR 12 14 14 14 9 9 7 0 0 23 23 21
MEIFER 4 7 7 7 2 1 0 0 0 9 8 7
REBFRIZER 4 7 7 7 0 0 0 0 0 7 7 7
it 20 28 28 28 11 10 7 0 0 39 38 35
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SRAR THEE | ZBRE|A8E | SHEE | 2RE | 68E | TEE | 2RE THEE | ZBE | A8E | SEE | 2BE | &%
EEVATLIZFER 12 23 23 20 8 8 4 0 0 0 0 0 31 31 24
MEIFER 4 3 3 3 2 0 0 0 0 0 0 0 5 3 3
REREHRTFER 4 5 5 5 0 0 0 0 0 0 0 0 5 5 5
g 20 31 31 28 10 8 4 0 0 0 0 0 41 39 32
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SRAR THEE | ZBRE | A8E | SHEE | 2BE | 68E | ZBEE | 2RE EEEE | ZEBE | S%E
EEVATLIZFER 12 12 12 12 12 8 7 0 0 24 20 19
NETFER 4 6 6 6 0 0 0 0 0 6 6 6
REREHRTFER 4 6 6 6 0 0 0 0 0 6 6 6
g 20 24 24 24 12 8 7 0 0 36 32 31
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SRAR THEE | ZBRE | A8E | SHEE | 2BE | 68E | TBEE | 2RE EEEE | ZBE | S%E
EEVATLIZFER 12 13 13 13 5 3 1 0 0 18 16 14
METFEFK 4 2 2 2 2 2 1 1 1 5 5 4
REREHRTFER 4 4 4 4 3 3 1 0 0 7 7 5
g 20 19 19 19 10 8 3 1 1 30 28 23
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